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2. o= 2™ANA HERb x of 27

@ 1 @ 13 @16
@ 18 ® 19

gL ~
AB : AD = AC : AE = 2 : 1,/AE Z5o|ER
AABC @ AADE(SAS®)

2:1=x:8

S x=16
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@3:6=4:8 = 1:29 G3H]7 JH3
# BC ¢} DE 7} B35}t




5.

B ~M2em”D™14em-~

@ 14ecm @ 16cm @18(:111 @ 23cm ® 24cm

LA 9] o] 5EA ]E—i,_B:A_C:ﬁ:D_C
x:21=12:14

. x=18cm




@® AB:AE=BD:DC @ AC=38
® /DAC = /ACE (@) aACE £ Aa7Fgoltt.

® /BAD = /AEC

AD & aACE 9] 9|Z+9] o] 5E 40|22 /DAC = /ACE ©|th.
w}t2tA] /BAD = /AEC ©]1 AACE £ o]5#H Az o]},
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10. o 1™olA BC 9| Aol=?

@ 7.5cm @ 10.5cm @ 12.5cm

@ 15cm ®)}18cm

~&B

AABC 2} AAED ©f| A
AB:AE=12:4=3:1
AC:AD=15:5=3:1

(A EFTF

- AABC O AAED (SAS &2)
BC:ED=3:1°22 BC:6=3:
- BC = 18(cm)




11. o2 1904 1A =/DEC,AB=9,BC=12,DE=6% 4, DC
o] k& +totd?

@ 4 @5 ® 6 @7 3)8

ACDE & ACBA A /CE &%, /A = /(DECO|E=
ACDE ¢ ACBA (AAR-S) ot}

DE: AB=DC:BC

6:9=DC:12°]2& DC = 8o|t}.
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B

AADB & ACAB O ACDA O] B2

12:15=x:20
x=16
15:y=20:12

“y=9




13. /A 7} 372l AABC o4 AHLBC € o, AAHC 9] Yol ?

A
\
6cm
n
B 4cm’H v
@ 18cm? @)27cm? @ 36cm?
@ 40cm? ® 42c¢m?

AR =BH-CH
36 =4x CH , CH = 9(cm)

- (AAHC 9] Hol)= % X9 X 6 = 27(cm?)




14. & J%¢lA DABCD cooA’B'C’D’ o]tk DABCD 9] &) Ze]
2 oA'B'OD 9 g9 AolE Uhe 27

D 14 @1.5 ® 1.6 @ 35 ® 4

~&B

AB:A'B"=12:18=2: 30|22 &9 Zo]o H|E 2: 3
oltt. wetA oA'B’'C'D’ 2] E32] Zo]Z nABCD 2] =9

Zo]2 Lhe ghe ; _ 1.50c}




15. o= o] 3%l F EoA &2 &
o] ¥ o] ZH o] dol=? 10¢ 140
@ 9rcem @)10m cm 0 O
® llrcm @ 12mcm 7em
® 137rcm
212 o] A 5] 202 remt T ohR
10:14=r:7
14r =70
. r=5
wreba] @H O E8= 27 x 5 = 10x(cm) ©]T.




16. & A AD :DB=2:5 < ufj, EC

o] ol Fahw?

@ 25cm @26cm

@ 28cm ® 29cm

® 27cm

~&B

AABE @ ACBD(AAS-S)
AB:CB =BE:BD

BD = 28 x g = 20(cm)

28 : 40 = BE : 20
BE = 14(cm)
- EC = 40 — 14 = 26(cm)
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S ACHAF o S5 @
EF 9] Zo]=?

@ gcm @ gcm 3
@ 4cm ® 5cm

AABF 0 ADFE(AARS) O]B& 6: 2 =

10 : EF 6EF = 20
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19. o2 I AHZHE O - ABCD °|A oA'B'C'D’ & Z&5HE F
W3t DABCD & Est= B ol A= B3P o, O - ABCD
O-A'BCD 9 w587

= AAEd O - ABCD ¢ 0 - A’'B’C’D’ o] Feo|B=2 e
H|&=0C: 0C’ =7: 3 o]t}




20. o "3 2ol BAD = /CAD = 45° ¢ 1, AABD 9] Ho]=?

@ 80cm? @ 90cm? @ 40cm?
®)45cm?2 ® ?cnﬂ

B

_ 1
AABC = HAZ44ZFo| B2 AABC = 15 x 10 x 5= 75(cm?)

ojr}.
AB:AC=BD:DC=3:2902&
AABD : AADC =3:2

3

. AABD = gAABC =gX 75 = 45( cm?)




